102-1 0000 ooy -obod

niafuln 0000 (%)

T = 10 110 s s
O0o0o0o0oOoOo0oo0o &Od00O0OO@E@OOOOO 100
oooooono)
2 O)yooooboooooooo 80 0 20 O 0
3 O)ooobobooooooo 80 0 20 0 0
4 yooooooooooo 80 0 20 0 0
5 goooooooooooo 80 0 20 O 0
6 (O)ooOobhoooooooooooboooa 80 0 20 O 0
7 O)ooooooooooo 80 0 20 0 0
8 O)oooobooooooooooo 80 0 20 0 0
9 goooogobooogooogo 80 0 20 0 0
10 gdoboooobooooboooobooobn 80 0 20 0 0
11 gooooooooooooo 80 0 20 0 0
12 gooooooooooooo 80 0 20 0 0
13 goooooooooooooooooo 80 0 20 O 0
14 goooooooo-0oooooooooooOooooo 8o 0 20 O 0
15 doooooooooooooooo (o) 80 0 20 O 0
16 goooooooooooo 80 0 20 0 0
17 goooogooogoond 20 0 80 O 0
18 oo0odno 20 0 80 O 0

pagel



pagel

page2



